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Question Number : 1 Question Id : 3666943111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

~ (tanl®)x +log, (123)
xlog,(1234)~-(tan1°)

F(£(x))+ fli A —1]]

If f(x) , x >0, then the least value of

Options:
0
3666949701.
3666949702, -
3666949703, °
3
3666949704.
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Question Number : 1 Question Id : 3666943111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

alg [(x)= et -+ g\ T3] Cx>078dl

xlog,(1234)—-(tan1®)

(1))« 11 L) | e v

X
Options:

3666949701,

3666949702, 2

3666949703,

8
3666949704,

Question Number : 2 Question Id : 3666943112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

) 2z=-31 . - _ 1
Let the complex number z=x +1y be such that e 15 purely imaginary. It
'+ 1

-_',I . .;I. . .
x+vy- =0, then y" + ¥* - y is equal to:

Options:
2
3

3666949705.
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o | QO

o3
3666949707, 1

36669497/08.

Question Number : 2 Question Id : 3666943112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT WY GBI z=x+iy® R 2~ g BIaf® 81 a2 x+2 =08, A

2z +1

v 4yt -y WERE:

Options :
2
3666949705, ©
3
L:;I-
3666949706.
3
3666949707,
3
3666949708
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For the system of linear equations

2=~y +dz ==
dx+2y—2="7
dx+oy+az=_1,

which of the following 18 NOT correct”

Options:

The system is inconsistent for @ =-5 and =8
3666949709.
3666949710, The system has a unique solution for @ # -5 and =8

The system has infinitely many solutions for ¢a=-5 and =9
3666949711.

The system has infinitely many solutions for @ =—-6 and =9
3666949712.

Question Number : 3 Question Id : 3666943113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2 —y+d2=295

ax+2v—2="T

dx+dy+az=p17,

& foro g o § 319 91 98! 78l &2

Options:

]
&collegedunlas
India’s largest Student Review Platform

S



a=-5d4l f=8 & (00 FHIHI FH™ SETd §

2666949710, @ * DT /=8 & [T WISV FHTH 1 TF Sl T 8

o =—5aUl =9 & fog Tt e & 3Fd 5 &
3666949711,

a=-6aYl f=9 & AU gHitHE FEE & oFd g ¢
3666949712.

Question Number : 4 Question Id : 3666943114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If Aisa 3x3 matrix and 18 equal to

A|=2, then |3 adj |

34| A7)

Options:
912 @ll

36669497/13.

12 10
3666949714. "6

10 ~11
3666949715, © O

11 1Ch
3666949716. 3.

Question Number : 4 Question Id : 3666943114 Question Type : MCQ Option Shuffling : Yes Is

Ouestion Mandatorv: No Calculator : None Resnonse Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR 33 BT TP AT AT TUT |4 =2 ¥, M3 adj (j34]A4° | RIRE:
Options:

12 Al
3666949713, © °

al2  al10
3666949714,

nll &11
3666949715, © 'O

11 10
3666949716. il

Question Number : 5 Question Id : 3666943115 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o ¢ 13
a2 7. 1 : ;B 1
If the coefficient of &' in [m: 73 and the coefficient of x™ in Lux i 3
X 1X

are equal, then a'b* is equal to:

Options:

11
3666949717.

22
36669497/18.

33
3666949/19.
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14
3666949720.

Question Number : 5 Question Id : 3666943115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

* W13 _ / 13 ) _ .,
e { ax fi H TP S T | aa LJ § 5 &1 Ui% SR g, al
\ 15l X
o' TR E:
Options:
3666949717,
22
3666949718
33
3666949719.
14
3666949720.

Question Number : 6 Question Id : 3666943116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let the first term a and the common ratio r of a geometric progression be
positive integers. If the sum of squares of its first three terms 18 33033, then
the sum of these three terms 18 equal to

Options:

RAARAROAQT71
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231

220
3666949722,

2
3666949723. 2N

241
3666949724,

Question Number : 6 Question Id : 3666943116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AMT U TUIRR 451 & UYA U o TU1 9d 3FUE » YIS YUid g1 3G 39
WUH 19 U2l & g7 &1 O 33033 8, d1 34 diF Ui &1 317 &

Options:

3666949721.
3666949722.

3666949723,

3666949724,

Question Number : 7 Question Id : 3666943117 Question Type : MCQ Option Shuffling : Yes Is

ﬂ----h=-l- -n-._.-l_h.-“‘l-. ‘I- F—:I-—--I-h-—u“- ‘.I.-.-.- H _______ T:I-_..-. - ‘I .n. TL:I-I' T:I-.- [ ] l! n -n:.-:_---_-.
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Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A square piece of tin of side 30 em 18 to be made into a box without top by
cutting a square from each corner and folding up the flaps to form a box. If the
volume of the box 1s maximum, then 1ts surface area (in cm*®) 1s equal to

Options:

675
3666949725.
3666949726, OZ°
3666949727, VU
3666949728, VU

Question Number : 7 Question Id : 3666943117 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm Yol & 51 & U U TPR Tha & YD DI W Uh q1f e aul 39
UHR &4 o4 & Bad] @] HIS IR gadH Ued Ud Hgd a9H ¢l Tig Hgd @l
AT IETH €, I 391 YHg &3%d @ cm H) TR 8

Options :

3666949725, 017

I.-l} :
3666949726, 2P
3666949727, VU
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3666949728, SV0

Question Number : 8 Question Id : 3666943118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

2 ; ot ol J A .
If I(x)=|e™ *(cosxsin2x—sinx)dx and I(0)=1, then 1[% J s equal to

Options:

3666949729.
r
3666949730.
3
_.]i_ H"l
3666949731, =
=3
3666949732,

Question Number : 8 Question Id : 3666943118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qie J{'x}=f.p""‘"“2'r{c-[}5xﬁin?.x- sinx)dx d4l I(0)=1 g, 1(%] &R 8
. | ¥

Options:
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3666949729.
i
»4
3666949730. ©
3
P
3666949731. 2
3
1.3
)
3666949732, -

Question Number : 9 Question Id : 3666943119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let f be a differentiable function such that x* f(x)-x =4[ ¢/(t)dt.
f(1)= % Then 18f(3) 1s equal to

Options:

150

3666949733.

3666949734, 160

3666949735. .

36669497/36.
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Question Number : 9 Question Id : 3666943119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AMI Uh Sdha-ig Bad [ @ (el x‘?‘f{:t]l—:r=-‘1J§£,f{ﬂ]{fl’-aﬂ[l]‘=§ gl

dl 18/(3) N &

Options:
3666949733, 12!
3666949734, 16V
3666949735, 10U
210
3666949736.

Question Number : 10 Question Id : 3666943120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%) W)
| 1 . TR Gk :
The slope of tangent at any pomnt (x, ¥) on a curve y=y(x) 1s - L, x=>0.

[f y(2)=0, then a value of y(8) is

Options:

3666949737, 13

3666949738, ~ V2
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3666949739, 23

3666949740,

Question Number : 10 Question Id : 3666943120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W y= y(x) T BM ARG (x, y) REOL T A FEORM 1L 0 B

2xy

qfe y(2)=0%, @ y(8) FILH AH &

Options:

3666949737 13

3666949738, ~4V2

3666949739, V3

2./3

3666949740,

Question Number : 11 Question Id : 3666943121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Let the ellipse E :x° + 9y =9 intersect the positive x- and y-axes at the points

A and B respectively. Let the major axis of I be a diameter of the circle C. Let

the line passing through A and B meet the circle C at the point P. If the area

of the tnangle with vertices A, P and the origin O 1s ™ where m and n are
1

coprime, then m—n is equal to

Options:

3666949741, 1°
3666949742, °
3666949743,
3666949744,

Question Number : 11 Question Id : 3666943121 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 EHGd B - x% + 9y = 9 YATHD x TUT y Hefl B H: fagaii A qur 8 W e
&1 AT E &1 S1Y 3181 , g0 C T UH o419 ¢ AT fogsit A au1 8 9§ g o arell
@I, 94 ¢ & fdg p W et g1 afe, Bys o oY A, p aur ga fdg 0 8, &

%ﬂqﬁﬂ{§F%JH€Tn1Eﬁﬂrr&ﬁﬁﬂﬂﬁﬂiifﬁrn—qaﬁ?ﬁﬂﬁ?

Options:

3666949741, 1P

3666949742, 1@
17
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18
3666949744,

Question Number : 12 Question Id : 3666943122 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A line segment AB of length 4 moves such that the points A and B remain on
the periphery of a cirele of radius A . Then the locus of the point, that divides
the line segment AB in the ratio 2:3, 15 a circle of radius

Options:
JTﬁﬁi
3666949745, !
-Jﬁii
3666949746,
2
1_"{
3666949747,
.
E:‘l
3666949748,

Question Number : 12 Question Id : 3666943122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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/. TS &1 Ud Y91 WS AB 3H UR fGqddl g fab fig A aui s, 2 B & w& 9«
&1 gRfe TR Tgd ¢1 ol 39 fdg, o TWRdS AB & 2:3 & U H faurford #al g,
&1 fdguy U 94 &, forde! B @:

Options:

3666949745, '

3666949746, °

)
S4
3666949747, °
3
E A
3666949748,

Question Number : 13 Question Id : 3666943123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let two vertices of a triangle ABC be (2, 4, 6) and (0, -2, =5), and its centroid
be (2, 1, =1). If the image of the third vertex in the plane x+2y+4z=11 is

(a, B, 7), then off + By + ya 18 equal to

Options:

3666949749, U
72

3666949750.

3666949751,
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3666949752, 'O

Question Number : 13 Question Id : 3666943123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT U B34S ABC & &1 i (2, 4, 6) TUT (0, -2, -5) & YT 5 (2, 1, -1) §1 A
a3y &1 IATE x+ 2y + 4z =11 HURAfEE (a, g, ») € W+ fy + ya W E:

Options:
3666949749, 'V
3666949750, -
74
3666949751,
76
3666949752,

Question Number : 14 Question Id : 3666943124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o i ' 2 —
x+3_y+2_1-2 . 1d the plane
g 1 2

v+ y+z=2. If the distance of the point P from the plane 3x-4y+122=32 is

Let P be the point of intersection of the line

g, then g and 2g are the roots of the equation

Options:

a
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3666949/53.

3666949754,

3666949755.

3666949756.

2 +18x +T2=0

|.-b
¥ =18¢=T2=0

2 +18c-T72=0

> =18x+72=0

Question Number : 14 Question Id : 3666943124 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HMET 3] I’;;S:JWE—I;E dYl HAA x+y+2 =2 @] Uldwsed fdg p 81 afg
ﬁ@?ﬁm 3x —4y+122=32 ?@fgfl ( %..t_:ﬂ g d4l 2q HTHMW$H§%?

Options:

36669497/53.

3666949754,

3666949755.

3666949756.

1

> +18x +T72=0

st
1

x> —18x -

=]

Z2=10)

&) . o
r +18x-T2=0

2 18x+72=0

Ouestion Nlitmber : 15 Ouestion Id : R6669432125 Duestion Tvne : MCO Ontion Shuifflina : Yes Is

~
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 2 . - ':
The shortest distance between the lines I{ — = ‘}2 - £ =

and

x=4 y=-1 z+3J

1 2 0

|
i 1
m..

Options:

3666949757, ©

36669497/58.

o0

3666949/59.

3666949760.

Question Number : 15 Question Id : 3666943125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

st IIH_ Y 279 gy I*'"”l_-‘-*’l_f;ﬂ & o YAdH gil &:

_9 2 1 &

kol ESST

Options:

3666949757, ©

'__‘

3666949758,

3666949759, °
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36669497/60.

Question Number : 16 Question Id : 3666943126 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let O be the origin and the position vector of the point P be i - 2_}: +3k . If

the position vectors of the points A, Band Care —2i + j —3k, 21 +4j -2k and

—41 + 25 — k respectively, then the projection of the vector OF on a vector
perpendicular to the vectors AB and AC is

Options:

3666949761,

3666949762, ©

W

3666949763.

10
3666949764, °©

Question Number : 16 Question Id : 3666943126 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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o1 0 4o feig & aur fdg p &1 fyfa wfder — -2+ 3k g1 ok fagafiA BAUIC &
R ORI He: —2i + j -3k, 21 +4j-2k QYU —4i+2j— ke a1 Ofe=i AB
dul AC & Tadd U GieY WX, ¥fey OP H1UaU

Options:

3666949761, °©

3666949762, ©

3666949763.

10
3666949764, ©

Question Number : 17 Question Id : 3666943127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An arc PQ) of a circle subtends a right angle at its centre O. The mid point of
the arc PQ is R. If OP =1i, OR =v and OQ = aii + v , then @, B* are the
roots of the equation

Options:

9
902 95 1=
3666949765, % =X 1=U

2 R, P
3666949766, % TaXx—-1=0

3666949767.

]
&collegedunlas
India’s largest Student Review Platform

S



36669497/68.

Question Number : 17 Question Id : 3666943127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U% 9 &1 Udh 919 PQ THD s G¥ YHHIU §41d1 g1 919 PQ &1 HeH fdg R g1 4G
OP =ii, OR=v a4 OQ = i + v §, A a, B &8 Gt & 4d 82

Options :

2 .
ox —=2x—1=1()

36669497/65.

3666949766. 3x" +2x—-1=0
e —x—2=0

3666949767. & T T

" +x—-2=10
3666949768, ©~

Question Number : 18 Question Id : 3666943128 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let N denote the sum of the numbers obtained when two dice are rolled. If the

. ' . m _ ,
probability that 2V < N! is —, where m and n are coprime, then 4m —3n

I
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3666949769, -

3666949770, 1Y

3666949771, °©

6
3666949772,

Question Number : 18 Question Id : 3666943128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A 2 YR B W T el 1 AR N g1 A 20 < N B @ miiliedr —

I

g W8l m dYl n SHEHII 8 dl 4m —3n WH &
Options:

3666949769, 12

3666949770, 1V

3666949771, ©

a
3666949772,

Question Number : 19 Question Id : 3666943129 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- T 2 4 ST 16x . -
D6 cos — cos — cos — 08 — €08 15 equal to

33 33 34 343 S

Options :
3666949773, |
3666949774, -
3
3666949775.
4
3666949776.

Question Number : 19 Question Id : 3666943129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T 2T A ST 167
96 cos — oS — COS — C0S — CO8

3¢ 33 3¢ 58 39

a6
Options:

3666949773, !
3666949774, -

3666949775.

36669497/7/6.
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Question Number : 20 Question Id : 3666943130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The negation of the statement
(pvg)a(gv(~r))is

Options:

3666049777, PV T~ (~9)

2666049778 =PIV T))A(~a)

(~p)v(~q))v(~r)

3666949779, -

((~p)v(~q))r(~T)

3666949/80.

Question Number : 20 Question Id : 3666943130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CAE
(pva)a(gv(~r)) AR UE RS

Options:

3666049777, \PVTIMT9)
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se660a9778. W PIVT)A(~q)

((~p)v(~g))v(~r)

3666949779.
3666949780. HW PV (> q}) A=)

Mathematics Section B
Section Id : 366694173
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response : ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694173
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 21 Question Id : 3666943131 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Let a. b, ¢ be three distinet positive real numbers such that

{2{1) log,. a _ {bt‘]t log,. b 0 [;Jl.ﬁgr. 2 _ _I{]-gf_, c

Then 6a + 5be i1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 3666943131 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A1 d1H i 4TS arRdfdd T8Il a, b, ¢ & T (2q) 8- °

’ ":-: .
[;]lugp._. _ ﬂlmg“r %r[

|

(be) 08" qu

dl 6a +5bc WS &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943132 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of elements in the set !n e 7 - |In® -10n+19| < 'E'} 15

!
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943132 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HH= {ln- ceZ:|n*-10n+19| < ﬁ}ﬁ 3qUdi &l H=&I §

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666943133 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of permutations, of the digats 1, 2, 3, ..., 7 wathout repetition, which
neither contain the string 153 nor the string 2467, 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Possible Answers :

10

Question Number : 23 Question Id : 3666943133 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ UG &, 3ihl 1, 2, 3, ... 7 & hHAYl, FoFH T d1 49dT1 153 81 1 8l §@an
2467 B, DI 4ET §

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943134 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some couples participated in a mixed doubles badminton tournament. If the
number of matches plaved, so that no couple played in a match, 1s 840,
then the total numbers of persons. who participated in the tournament,

18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 24 Question Id : 3666943134 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P quradl - Wfda g dsfiien ufcaifiar & «m o ofe @a e A=), e
foedt oft ufey 3w &1 O T T 181 forar €1 B TWAT 840 €, ol Wiadiiar § HmT
- dIel Afdadl $1 Fd GBI 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 25 Question Id : 3666943135 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

) * 10
The coefficient of x* in (1 — ¥+ E:ES\J 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943135 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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- N | | SRR :
{1—x+2x3) A x' B1I0NS 8
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943136 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The sum of all those terms, of the arithmetic progression 3, 8, 13, ..., 373, which
are not divisible by 3, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943136 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THidR 9l 3,8,13...,373 & 34 |l ugl, W 3 ¥ faursy F8l € &1 9N R @

Response Type : Numeric

Evaluation Required For SA : Yes
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943137 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let f:(-2, 2) > R be defined by

{I[I] ,—2=x =0

f(%)= (:I—l}[l']. 0<x<2

where [’r] denotes the greatest integer function. If m and n respectively are
the number of points in (-2, 2) at which v = If (r}‘ 18 not continuous and not

differentiable, then m+n 18 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943137 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A f:(-2,2) > R

- -_‘I’[I] ,—2<x <)
I{I)_{{x—l][x]? 0<x<?
&R URHITYG ©, S8l [x] W QUi T € | Afe SfeRTdl (-2, 2) H 3 fawgaf, fom
Ry =|f(x)| ¥ad Te1 ¢ U HTHTH Tl &, B! GBNBAM: m AU 0 8, T m+n
W &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943138 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Let y=p(x) be the parabola passing through the points (-1, 0), (0, 1) and
(1, 0). If the area of the region {[:r,, y):(x +]l_]E +(¥ —1}2 <l y<p (x}} is A,

then 12(7—4A) isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943138 Question Type : SA Calculator : None
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Correct Marks : 4 Wrong Marks : 1

AT feg3it (-1, 0), (0, 1) TYT
(1, 0) ¥ BIHT OH G1d WAl y = p(x) &1 4E &

((x. 2): (x+1)" +(y-1)" <L, y < p (x)| PIATGAAR A 12(7 - 44)

e ©

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943139 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Let a common tangent to the curves y* = 4x and [.1? —4]2 - 1‘2 =16 touch the

9
curves at the points P and Q. Then (PQ]“ 1§ equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943139 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Caveart Mavire * A \AMlvanms AMAaviie < 1




AFTE® 2 = 4x AU (x—4)° +y* =16 B T g e T, ol &) figsh
P YT Q R WY Al 81l (PQ)” W &

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943140 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[f the mean of the frequency distribution

Class

(-10

10-20

20-30

A0-40

10-50)

Frequeney :

E

S

e

18 28. then its variance is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943140 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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gfe INARAI g4

g - 0-10 10-20 20-30 30-40 40-50

GIECIEGIE 2 3 X 5 4

&1 HIE 28 €, dl 39T UH0l §

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id: 366694174
Section Number: 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694174
Question Shuffling Allowed : Yes
Is Section Default? : null
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Question Number : 31 Question Id : 3666943141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A particle executes S.H.M. of amplitude A along x-axis. At { = 0, the position of the particle is

x=— and it moves along positive x-axis. The displacement of particle in time { 1s

—

¥ = Asin(wt + &), then the value & will be

Options:
it
9
3666949791, -
E
3666949792, °
E
3666949793, |
&
3666949794, °©

Question Number : 31 Question Id : 3666943141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
-3 F I WA A1ad T B W@ fhdl S BT SH A B I ¢ = 0 W B
RUftx-2 ¥ W 98 I 344 F SR Toa 31 ¢ W F 30 31 R
¥ = Asin(wt + 5}%, dl & BTHHE E?FTI

Options:

T
2

3666949791.
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o | 3

3666949792,

3666949793.

& | 5

3666949/794.

Question Number : 32 Question Id : 3666943142 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I :

List 1
(A) 3 Translational degrees of freedom

(B) 3 Translational, 2 rotational degrees
of freedoms

(C) 3 Translational. 2 rotational and
1 vibrational degrees of freedom

(D) 3 Translational. 3 rotational and more
than one wibrational degrees of
freedom

List 11
(I) Monoatomic gases

(1) Polyatomic gases
(I1I) Rigid diatomic gases

(IV) Nonrigid diatomic gases

(Choose the correct answer from the options given below :

Options:
3666949795, W+, (B)-(AV). (C)-(ID), (D)-(ID
3666949796 (A)-(DD), (B)-(I11), (C)-(IV), (D)-(1I)

3666949797 A-IV), (B)-(I1D, (O)(ID), (D)-()

~
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3666949798, A)-V), (B)-(ID), (C)-(D). (D)-(I11)

Question Number : 32 Question Id : 3666943142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gt | 1 HHH 11 & |1y HeH &

Tl | Tt ||
(A) 3 R Wd=adl & Diic (1) UHAURHUE™ T

(B) 3 WMI=HIT, 2 Yull Tadaal &1 difedl (1) <SEURHEY 19

(€) 3 ®FERKRE, 2 9off od 1 &9 () s feuwdmnda 79
LSREGIE I

(D) 3 MR, 3 Yulf Ud T 4 W&l (Iv) 3fEs (F9) feueamEyg 19
S WolAdl dI Hifed]
A 1qu T I el # ¥ "Wel 3O I+

Options:

3666949795 (A)-(I), (B)-(IV), (C)-(111), (D)-(1I)

3666949796, W-(D). (B)-(ITI). (C)-(IV), (D)-(1D)

3666949797, W-IV), (B)-(I1I). (C)-(II). (D)-(I)

3666949798, A-IV), (B)-(ID), (C)-(1). (D)-(II1)

Question Number : 33 Question Id : 3666943143 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrona Marks * 1




Consider two containers A and B containing monoatomic gases at the same Pressure (P),

Volume (V) and Temperature (T). The gas in A is compressed isothermally to lﬁ of its

| 1
original volume while the gas in B is compressed adiabatically to B of its original volume. The

ratio of final pressure of gas in B to that of gas in A is
Options :
i
9

3666949799, 5-

3666949800, °

3666949801,

1

3666949802, °

Question Number : 33 Question Id : 3666943143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WM 31 SIRI A Ud B § HM T (P), 34 (V) Ud 1Y (T) W UHAURHIUETY 719 W& 81 A
T 9 & A $U R S RS A & — W 9% Suited a1 ST &, e B8

8

ﬁrﬁlﬁﬂﬁmmaﬂwai% W 0% $<I™ UshH § gdifed far srar 21 8 &
! 19 U A TE 19 & SifadH &l &1 SHurd ¢

Options:

q

3666949799, 5

3666949800. °
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3666949801. .

]

3666949802, °

Question Number : 34 Question Id : 3666943144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two satellites of masses m and 3m revolve around the earth 1in circular orbits of radur & 3 r
respectively. The ratio of orbital speeds of the satellites respectively is

Options:

3666949803, 11

3666949804.

3666949805, -1

3666949806.

Question Number : 34 Question Id : 3666943144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mUd 3m GoOH dTd &1 SUUE, il & IRI SR HH: UG 3 F1 drell g Sams d g
36 & SUUE! B HHY: BT A6 & U ¢

Options:
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3666949803, L1

3666949804, V31!

3666949805, 1

3666949806.

Question Number : 35 Question Id : 3666943145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A physical quantity P is given as

The percentage error in the measurement of @, b, ¢ and d are 1%, 2%, 3% and 4%
respectively. The percentage error in the measurement of quantity PP will be

Options:

3666949807, 2%

3666949808, 147

3666949809, 17

3666949810, 0

Ouestion Number : 35 Ouestion Id : 3666943145 Ouestion Tvbe : MCO Option Shufflina : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B3 HIfd A p 3 WbR & 7T 8:;

a-b’

P =
efd
g b cUd d® A H g3 WAd FfE HHA: 1%, 2%, 3% Td 4% g1 A P & 7 d g5

Options:

3666949807, 147

3666949808, 4%

3666949809, 0

3666949810, "

Question Number : 36 Question Id : 3666943146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(ziven below are two statements

Statement | . Pressure in a reservoir of water is same at all points at the same level
of water.

Statement 11 . The pressure applied to enclosed water is transmitted in all directions
equally.

In the light of the ahove statements, choose the correct answer from the options given below :
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Both Statement 1 and Statement 11 are true
3666949811.

3666949812, Both Statement I and Statement Il are false

Statement [ 158 true but Statement 11 1s false

366694981 3.

Statement [ 1s false but Statement Il is true

3666949814,

Question Number : 36 Question Id : 3666943146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
FYT1: UM P ¢h A 5d & 0P dd W Iuyd I+ =<l R g g9F g g

DY Il : YR U (3MM9Y) UFT IR HRIYTT a1 71 S1d, FHT [l § aRreR /31 § 99Rd
gidl g1

I Byl & Ha 1, e fau e faemedl 7 9§ waifrd Iuge I I
Options:
3666949811, P 1 T BUA 1| ST Wl €1

3666949812, T 116 PE | 1T

Y- | PRENIC AR B RIN G
366694981 3. wel'e ¢

26aR0A0R14 P U I TdC & U] HY |1 e8! 8
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Question Number : 37 Question Id : 3666943147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Assuming the earth to be a sphere of uniform mass density, the weight of a body at a depth

d = = from the surface of earth, if 1ts weight on the surface of earth 18 200 N, will be :

(Given R = radius of earth)
Options:

3666949815, “VON

3666949816, V0N

3666949817, OV .

3666949818. -y

Question Number : 37 Question Id : 3666943147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
gl &l UHHH GodWH 9 1 el HIFd gU, afc fadt fIUg &1 YR eRTad W 200 N &,
o eRTAA & = 2 TR W 3T R A (R, R = gt o e,

Options:

3666949815, “UON
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3666949816, V0N

: T
3666949817. o

3666949818. S

Question Number : 38 Question Id : 3666943148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The position-time graphs for two students A and B returning from the school to their homes
are shown in figure.

B

0 L

(A) A lives closer to the school

(B) B lives closer to the school

(C) A takes lesser time to reach home
(D} A travels faster than B

(E) B travels faster than A
Choose the correct answer from the options given below:
Options:

3666949819, V) (0) and (D)only

3666049820, ¥ and (&) only

(B) and (E) onlv
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3666949827 - (€) and (E) only

Question Number : 38 Question Id : 3666943148 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa=ITer ¥ 91ue-31uH TR died §U al Sl A Ud B &1 [RUfd-gw 3 R fom o < a8 |

13

0 1
A) A fdenag &y Ear gl
8) B f3Emay & U wA Bl
(€) A®IRUgI H HH FHY A1 8
(D) A B®IaAIH ddl gadl 8|
(E) B A®DI JaIH o dadl g

Options:

3666949819. el (A), (C) Td (D)

3666949820. &dd (A) U (E)

3666949821. (B) Rd (&)

3666049822, P90 (A (Q T (€)
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Question Number : 39 Question Id : 3666943149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The range of the projectile projected at an angle of 15° with horizontal i8 50 m. If the
projectile 18 projected with same velocity at an angle of 45° with horizontal, then its range

will be
Options:
3666949823, 0™
3666949824, DONZ m
1000 m
3666949825.
10042
3666949826. .

Question Number : 39 Question Id : 3666943149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&fae T 15° & S0 W &g fHU 710 & &1 W 50 m g1 gfe HE Ua™ & GaHE a7 3
&S § 45° & P01 R VAT oo oI1aT 8, o 3BT W §IT:

Options:

50 m

3666949823.

3666949824, D0VZ m
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100
3666949825.

<15
3666949826.1ﬂﬂ4:‘“

Question Number : 40 Question Id : 3666943150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle of mass m moving with velocity v collides with a stationary particle of mass 2m.
After collision, they stick together and continue to move together with velocity

Options:

3666949827, "

o=

3666949828.

3666949829.

3666949830, 4

Question Number : 40 Question Id : 3666943150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v AT | T H G m GEHA &1 B BT, 2m FHM a1 f5d! FRR S0 § Hug 3 g
TUE & 918, 3 UH-gW 4 fusdes ta 91y forg 37 @ 961 ORI 394 €, 98 3 &
&cqllegeduniaa
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Options:

3666949827.

3666949828.

3666949829.

3666949830.

o R=

Question Number : 41 Question Id : 3666943151 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equivalent capacitance of the combination shown 1s

Options:

3666949831.

3666949832,

3666949833.

|
¢’

Cpi
|

~
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3666949834. &

Question Number : 41 Question Id : 3666943151 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Options:

b | MY

3666949831.

l_.|..;||'...nl"l

3666949832.

3666949833.

3666949834. e

Question Number : 42 Question Id : 3666943152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A carrier wave of amplitude 15 V 18 modulated by a sinusoidal base band signal of amplitude
3 V. The ratio of maximum amplitude to minimum amplitude in an amplitude modulated

wawvo 1
a
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Options:

3666949835.

3666949836.

3666949837.

3666949838.

b

ot

o) Kot

Question Number : 42 Question Id : 3666943152 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 V 3T dTd {6l aTgs a8 &1, 3 v UMW did WIdsil Aigas [fud & gRI #igld

o STl § | SITTH HigTerd aiv & SHTpaH ST Ud <FaH ST &1 39T &:

Options:

3666949835.

3666949836.

3666949837.

3666949838.

g

i

b | oo

~

S
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Question Number : 43 Question Id : 3666943153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A zener diode of power rating 1.6 W is to be used as voltage regulator. If the zener diode has
a breakdown of 8 V and it has to regulate voltage fluctuating between 3 V and 10 V. The
value of resistance K. for safe operation of diode will be

R«
o—AW 0

Unregulated 7% Regulated
Voltage Voltage

o - J

Options:

3666949839, V%2

3666949840, 1%L

3666949841. Fhe

3666949842, 00

Question Number : 43 Question Id : 3666943153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.6 W YIfad aTet U SR SIS &1 YN dices (g & $U H far o1 8| afe SR &
Yo dicedl 8 V g, Ud 39®! 3 V UG 10 V & &9 URafdd 81 38 dicew @ Hafia &1 g,
I8 & YRi&a waI & forw ufaRye R, &1 AF gRM

Rs
o— WY 0

Unregulated N Regulated
Voltage Voltage

Options:

3666949839, V42

3666949840, =%

3666949841. e

3666949842. L

Question Number : 44 Question Id : 3666943154 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The angular momentum for the electron in Bohr's orbit is L. If the electron is assumed to
revolve in second orbit of hydrogen atom, then the change in angular momentum will be

Options:

2L
3666949843,

L
3666949844,
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o | B

3666949845,

ZEYO
3666949846.

Question Number : 44 Question Id : 3666943154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

digY D&l | Soiaei- &1 HIUIG W £ g1 TS Soiaei Dl gE gl A B Uil H&fl

I g, ol DIviig Faw | g uRad- gnm:
Options :
)
3666949843,
L
3666949844,
L
3666949845, -
Ze1ro
3666949846,

Question Number : 45 Question Id : 3666943155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(jiven below are two statements -

Statement | : Maximum power is dissipated in a ecircuit containing an inductor,
a capacitor and a resistor connected in series with an AC source, when

resOnNANce 0Ceurs
Statement 11 : Maximum power is dissipated in a circult containing pure resistor due

to zero phase difference between current and voltage.

In the hight of the above statements, choose the correct answer from the options given below :
Options:

Both Statement | and Statement 1l are true
366694984 7/.

Both Statement | and Statement 11 are false
3666949848.

Statement I 1s true but Statement Il 1s false

3666949849,

Statement 1 18 false but Statement 11 18 true

3666949850.

Question Number : 45 Question Id : 3666943155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i @ HyA Ry MU §:

DY | : AC FId I Yull HH ¥ 5[ U Wb, Ueh HUIRA U9 U YiaRlY aret URuy # i
ifek O &4 Il ¢, Wd TS gl g

SYT I : Yg Uiy arel uRuy 7§ stftiean wied & gidl & Fifd YR Ud diees & did
R YA g1l |

Judad HyAl & el 7, 12 1 fawedl A ¥ waiides Iuged IR -
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Options:

2666049847 PUA 1 T Y I THI Wel T

3666049848, Pu1 | T U I I T €

3666949849. HYF | el § WRg Y || T B

HYA | 7eld & Ud=g U || |
3666949850. ¢ WS

Question Number : 46 Question Id : 3666943156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of a molecule in a gas at room temperature (300 K) is A . If the

temperature of the gas 18 increased to 600 K, then the de Broglie wavelength of the same gas
molecule becomes

Options:

]!.
3%
3666949851, °

24
3666949852, ’
1
— 7,
-
3666949853. T
J2 2
3666949854,
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Question Number : 46 Question Id : 3666943156 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHY & dAUAM (300 K) R, [l 19 & 3) &t St-aimelt aveed 4 g1 afe I &1 drawH
600 K & ST [ STl €, 1 39 T & 0] &t E-5iell avnreyd g1 s

Options:

2h
3666949851, ~

2 4,
3666949852. |

L

Noh
3666949853.

J2 4,
3666949854,

Question Number : 47 Question Id : 3666943157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An object is placed at a distance of 12 ¢em in front of a plane mirror. The virtual and erect
image 1s formed by the mirror. Now the mirror is moved by 4 em towards the stationary
object. The distance by which the position of image would be shifted, will be

Options:

3666949855 . 2 cm towards mirror

o r e~ 4 em towards mirror
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8 cm towards mirror

3666949857.

& cm away from mirror

3666949858.

Question Number : 47 Question Id : 3666943157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud a%] fbdl ¥9dd gUU & ¥HH 12 cm @1 g8 W Wl 81 Ul gRI Syt ud e
ufaferd a1 81 3@ <40 &1 FRR 3xg Bt NG 4 om TBwHM@ 1 g1 o/ 3 § vfafers
®! fyfa fawufa grft a8 &

Options:

3666949855, 2 cm GUUI &l 3R

3666049856, 4 €M S0 B SR

3666949857, © €M & 01 T 3R

8 cm gUU § aX
3666949858.

Question Number : 48 Question Id : 3666943158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The energy of an electromagnetic wave contained in a small volume oscillates with
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Options:
zero frequency

3666949859.

3666949860, the frequency of the wave

double the frequency of the wave

3666949861.

half the frequency of the wave

3666949862.

Question Number : 48 Question Id : 3666943158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fadl BI¢ Smaa- ¥ degadad g adf & FHul ford JH1af & |1y gid— &l 6, a8 ©

Options:

3666949859, &1 HIgd
3666949860, TT1 1 IR
3666949861. AT G PIIFA SM

a1 Dt 31 1 3Meft g

3666949862.

Question Number : 49 Question Id : 3666943159 Question Type : MCQ Option Shuffling : Yes Is

H.--_.-_L:_.-.-. l.-.-.-._.-..h_.----- l._— F_.I_--I_.L._.-.-- ll_-.-.-. H _______ ':._—_._. - ‘I l 'l_.:..-..- ':.—_—_-_. il ‘.I n l.=-.—=-.--.---.--.
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(riven below are two statements -

Statement I : If the number of turns in the eoil of a moving coil galvanometer is

doubled then the current sensitivity becomes double.

Statement 11 . Inereasing current sensitivity of a moving coil galvanometer by only
inereasing the number of turns in the coil will also increase its voltage
sensitivity in the same ratio

In the light of the above statements, choose the correct answer from the options given below :

Options :

Both Statement | and Statement [l are true
3666949863.

Both Statement 1 and Statement 1l are false

3666949864.

Statement I 18 true but Statement Il 1s false
3666949865.

Statement | is false but Statement 1l is true
3666949866.

Question Number : 49 Question Id : 3666943159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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i 31 By U E:

&Y | : 4fS fHH b sal URTHT Bl Dl & Hl BT TEHT DI SR HI a1 ST df 4R
FATeIal & T 8l STt 8|

FY 11 : {3 gadac YR B YR GUIEldl Bl Fad dedl & B I GBI B g
deM 9 I9S! dices garelal H ! 99 urd ¥ gl g

IWa HYA1 & GaH 1, i fou e fosedi 9 € Halite Iuge IW 94

Options:

HYF |1 Td FYH || [T i
3666949863. s <l el @

3666949864, U | T BUA 11 T T &

3666949865, | e § WRg P Il T g

3666949866, 11 1l & W= HU |l W8l g

Question Number : 50 Question Id : 3666943160 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The equivalent resistance of the circuit shown below between points a and b 1s :

Options:
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3666949867/.

3666949868.

3666949869.

366694987/0.

16 €2

Question Number : 50 Question Id : 3666943160 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr gud U uRuy &1 fa< 2 T4 S i B o Uiy 8 -

Options:

3666949867/.

3666949868.

3666949869.

366694987/0.

16 €2

~
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Physics Section B

Section Id : 366694175
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694175
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 3666943161 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two wires each of radius 0.2 em and negligible mass, one made of steel and the other made of
brass are loaded as shown In the figure. The elongation of the steel wire 1s

a
—

x 107" m . [Young's modulus for steel = 2x10""Nm™ and g=10 ms™

_L."'_LH_LLér
1.6 m steel

1 m brass

N 11.14 kg

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 3666943161 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.2 cm FHM 501 a1dt 3 gogH WRd IR, veldid fa # <l saR URT @ @ €, fomm
U6 dR Wld &1 &9 ¢ Ud GO ldd (brass) ¥ Fffid g1 ¥a & drR &1 WR
X lﬂ'r‘im_iﬁtr ﬁﬂﬁ &1 4 AP = 2x10" Nm =, g=10ms™)l

ff’/ff:”él(

1.6 m steel

!
:AE- kg

1 m brass

| ""“,,1 kg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943162 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A transverse harmonic wave on a string is given by
y(x, 1) =5 sin(6¢ + 0.003 x)

: : , T =
where x and y are in em and { in sec. The wave velocity is ms .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943162 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
T R 9d @1 U U HA1l ¥ Fgad 41 1S €

y{x,t) =5 sin(6¢ + 0.003 x)

\_IT—E:T X Eﬂ 4 ﬁcm fﬂ!ﬁr @ﬁﬁ%l?ﬂﬂﬁéﬂ ms %l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943163 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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If the earth suddenly shrinks to —4th of its original volume with its mass remaining the

24 | .
same, the period of rotation of earth becomes —#f . The value of x iz
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943163 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¢ gl 3rad ¥ U dRddd 3gdH & t;—iﬂ:ﬂ s U Sdid 3BT G| THH 6

dl gedt &1 guiHSBT %h I gl * B AN gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943164 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A closed circular tube of average radius 15 cm, whose inner walls are rough, is kept in
vertical plane. A block of mass 1 kg just fit inside the tube. The speed of block 15 22 m/s,
when 1t 1s introduced at the top of tube. After completing five oscillations, the block stops at
the bottom region of tube. The work done by the tube on the block is .
(Given g =10 m/fs?),

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943164 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

15 cm 34 B9 ardl & d JadR el Bl JER dd § 1@l 9K g, ol ofaie g
TGt §1 1 kg SIHM &1 U e el & <R 9 T T 81 §d e Bl Aadll & Al

S U W W1 ST 8, o IHD! G 22 my/s €1 U Slad JUf $XA & 918 e ol &
Fam fe 7 Sdar g | 7al gR1 [ed W &1 T 1 )@ g =10 m/sd)|

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666943165 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three concentric spherical metallic shells X, ¥ and Z of radius a, b and ¢ respectively
la < b < ¢] have surface charge densities o, —a and &, respectively. The shells X and Z are
at same potential. If the radii of X & Y are 2 em and 3 em, respectively. The radius of shell Z
18

cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666943165 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a, bﬁazf[ﬂt:b{r'] ﬁ@aﬁaﬁ?ﬂqﬂmiﬂiﬁﬁim,{ V@mewmm
o, -c T ¢ BB X Td Z R fa4d AF 81 3fe S x 1@ v &t B HA: 2 com T
3cmel B Z & B cm el

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666943166 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The decay constant for a radicactive nuelide is 1.5x10°s™. Atomic weight of the substance
is 60 g mole™, (N, =6x10™"). The activity of 1.0 ug of the substance is x 10" Bqg.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666943166 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fredt Tfzdefded it &1 &g Fadia 1.5x10%s 81 U814 &1 TWHIY YR 60 g mole™' 8!
1.0 ug Terd &t wfehgan x10""Bq § (TGN, = 6x10%)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

a
&collegedumaa
India’s largest Student Review Platform

S



10

Question Number : 57 Question Id : 3666943167 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Unpolarised light of intensity 32 Win™ passes through the combination of three polaroids
such that the pass axis of the last polaroid is perpendicular to that of the pass axis of first
polaroid. If intensity of emerging light 1s 3 Wm=, then the angle between pass axis of first
two polaroids 1s !

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666943167 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

32 Win2 diddl dTadl SYfad U, diF dieRisel & JaiaH | Uiid gidl g ©l & 39 uaR
I ¢ [ sifaw diekige &1 UIiid 18, UYH Uieikiss & UG 38 & @/ dd ol et Hiid
UHIY &1 digdl 3 Wm2 & d Usd a UleRissl & Uid el & df &1 I
o &7 B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

L]
&collegedumaa
India’s largest Student Review Platform

S



Question Number : 58 Question Id : 3666943168 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 1 m long metal rod XY completes the circuit as shown in figure. The plane of the ecircuit is
perpendicular to the magnetic field of flux density 0.15 T. If the resistance of the circuit
is 0f) the force needed to move the rod in direction, as indicated, with a constant speed of

4 m/s will be 10 N.

-
T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666943168 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1 m ol Yfd® &g xyvelid i & SR f&H aiuy &1 quf #1 @1 g1 aikey &1 ad
0.15 T IR T dTet Jraich 1Y & & ehadd ¢ | &S Bl QI 775 faen & 4 mys 3 Fad 95
Y 9dH & folu S99 10°N g

}{X}'{ b X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666943169 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The current required to be passed through a solenoid of 15 ¢m length and 60 turns in order to
demagnetise a bar magnet of magnetic intensity 2.4x 10" Am ' is A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666943169 Question Tvpe : SA Calculator : None

]
&collegedumas
India’s largest Student Review Platform

S




Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2.4x10° Am™ TP dliddl el FS-JaE P [dgddh HIA & [o1T, 60 BRI dlel Td 15 cm
vt afRATerdT 9 7oA aTell STawdd YR &1 7H AR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666943170 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 resistors each of resistance 100 can be connected in such as to get maximum and

minimum equivalent resistance. The ratio of maximum and minimum equivalent resistance
will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666943170 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3t aH Ud YATH Jod WiaRIY W &3 & [T 10 W] DI SferT-3a UHR  SeT ol
¥Fdl 8 o Udd @1 ey 100 81 SHUedH T A g Uil @1 Siurd

g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 366694176
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694176
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 61 Question Id : 3666943171 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of molecules and moles 1n 2.8375 litres of O, at STP are respectively
Options:

3666949881 1.605 x 10 and 0.250 mol

3666949882 7.527 x 10%% and 0.125 mol

T.527 x 10*2 and 0.125 mol

3666949883.

T.527T = 1022 and 0.250 mol

3666949884.

Question Number : 61 Question Id : 3666943171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STPWR 0, & 2.8375 dieX H Ui Ud Hich &1 H&T &, HHI: -
Options:
L 23 4 2

23 - .
3666949882, '-227 * 107 8d 0.125 mol

22 ' .
3666949883, /227 * 107 G4 0.125 mol

' 22 1A -
3666949884, =</ * 10754 0.250 mal
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Question Number : 62 Question Id : 3666943172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iven

(A) 200(g) + O, (g) — 2C0,(g)
(B) C (graphite) + O.,(g) = CO.(g)

The AH” for the reaction

C(graphite) + ~0,(2) > CO(g) is

Options:

3666949885.

3666949886.

3666949887.

3666949888.

2y —x

2x — ¥y

AH! = —x kI mol™

AHY = —y kI mol

Question Number : 62 Question Id : 3666943172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~
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ﬁmrﬁ'ﬂ%

(A) 200(g)+ 0O, (2) = 20C0,(g) AH =—x kJmol ™
(B) C (graphite) + O,(g) — CO,(g) AHS =-y kdmol ™
Fgeiffdar & folw an’e:

Cl(graphite) + %Diig}—}{'l{}{g} IS

Jr o)

Options:

3666949885, 2

2y —x

36669498860.

2x -y

3666949887. -

3666949888.

Question Number : 63 Question Id : 3666943173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The enthalpy change for the adsorption process and micelle formation respectively are
Options:

3666949889, AHaa<0 and AH,; <0

AH , >0 and AH__ =0
3666949890. o

AH . =0 and AH_._ <0
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3666949897 AHaa.<0 and AH,, >0

Question Number : 63 Question Id : 3666943173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3iferemyor s ud foke Ao & g sae: Tlell ufvacH @

Options:
3666949889, A Haw<0 and AH,, <0
"j‘H-,,g._‘ =0 and A H"‘ir. -1
3666949890. o i
A Hu-:iﬂ- =) ﬂ']ﬂd A H:rml: < ()
3666949891. '
3666949892, AHwu<0 and AH,, >0

Question Number : 64 Question Id : 3666943174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is used as a stabilizer during the concentration of sulphide ores?

Options :

3666949893 ~anthates

a
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3666949894, Pine oils

Cresols

3666949895.

3666949896, LU Acids

Question Number : 64 Question Id : 3666943174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
b3S HOEh| & Higll & SRME 390 U &F WHHR & ¥4 H Iugi f&d S g7

Options:

3666949893,

3666949894, 1S @I dd

3666949895, ESIN

3666949896.

Question Number : 65 Question Id : 3666943175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(Given below are two reactions, involved in the commercial production of dihydrogen (H,).

The two reactions are carried out at temperature “'I} " and “'l, ", respectively

C(s) + H,0(g)——CO(g) + H, (g)

CO(g)+ H,0(2)——C0, (g) + H,(g)

Catalyst

The temperatures T, and T, are correctly related as

Options :

3666949897, 17 12

3666949898, 11 <1

3666949899.

T, =100 K, T, =1270 K
3666949900.

Question Number : 65 Question Id : 3666943175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At &1 srfiforard & g €1 o SIgEEeeH (H,) & JEUd® IdeA 1 wiafed 81 I
HHfoaTd A 1 " Ud “p, " AYHM W grufed & ol g |

C(s) + H,0(g)——CO(g) + H,(g)

CO(g)+ H,0(g)——CO, (g)+ H.(g)

Catalysl

di9qHE T, U9 T, Hel PR 4§ Wi 6

Options:

3666949897, 117

3666949898, 1 <
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3666949899, 1 =

T, =100 K, T, =1270 K
3666949900.

Question Number : 66 Question Id : 3666943176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Lime reacts exothermally with water to give ‘A’ which has low solubility in water. Aqueous
solution of ‘A’ is often used for the test of C(Q,. a test in which insoluble B is formed. If B is

further reacted with CO, then soluble compound 1s formed. ‘A’ 18
Options:

Quick lime

3666949901.

3666949902, i€ water

3666949903, O hked lime

White lime
3666949904,

Question Number : 66 Question Id : 3666943176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Fd & WY I SATHiHT $3P ‘A’ ST ¢ ot ol # fdeludl S0 g1 A’ & Soilg
faeraH &1 co, & uiemr # yr: I o s 8, forg udier o sifded B &1 81 afd B

®1 o1 T co, & 9 S AU G v faera iffies Ridd giar g ‘A 6 -
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3666949901. I &l =l

3666949902. Qﬁ BTl

3666949903. =

d gl
3666949904. 4 %

Question Number : 67 Question Id : 3666943177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The compound which does not exist 1s
Options:
3666949905, DIt

(NH, ), BeF,
3666949906. i

Na(Q),
3666949907/. -

BeH.,
3666949908. B}

Question Number : 67 Question Id : 3666943177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
dag AT ST TgT ura i &:
Options:

3666949905, | PEt:

(NH, ). BeF,
3666949906. .

NaO
3666949907.

i<

BeH,
3666949908. )

Question Number : 68 Question Id : 3666943178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct?

(A)  The M*/M** reduction potential for iron is greater than manganese.
(B)  The higher oxidation states of first row d-block elements get stabilized by oxide 10n.
(C)  Aqueous solution of Cr~" can liberate hydrogen from dilute acid.

(D)  Magnetic moment of V- is observed between 4.4 — 5.2 BM.

Choose the correct answer from the options given below:

Options:

3666949909, (A)- (B) only

3666949910, (B)- (L) only

3666949911, (U (D) only
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A). (B). (D) only
3666949912, ) (B (Dyonly

Question Number : 68 Question Id : 3666943178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PO A A &9 A YT T8 57

(A) AT D M™M= 3UFH faya B 3t g
gmﬁfﬁ%u&m&nﬁaﬁ%mmﬁwmmmmw
IEIGIE

(€) ¢ BV fadH o o 9 greale Hd &R Yl &

(D) v &I gradid A 4.4 - 52 BM & T Ui fdar g

i feu e fasedl # 9 Tel S I

Options:

36669499009. A). (B)

36(-.36949910.'{E}*""‘i?‘EljfﬁI

3666949911, (). (D) Pad

3666949912, (A (B). (D) FaT

Question Number : 69 Question Id : 3666943179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The octahedral diamagnetic low spin complex among the following is
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e 4=
3666949913, ok

3666949914, VUL

[Co(NH,), ™
3666949915.

- ) =
3666949916, | ~OUk!

Question Number : 69 Question Id : 3666943179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o 7 I srpwas g ufagras i 9 U G5 &

Options:
-
3666949913, 0kl

T o
3666949914, VULl

[Co(NH,),]"
3666949915.

T —
3666949916, | OUk!

Question Number : 70 Question Id : 3666943180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I wath List 11

List 1 List 11
Industry Waste Generated
(A) Steel plants I) Gypsum
III) Slag
(IV) Bio-degradable wastes

(

(B) Thermal power plants (IT) Fly ash
(C) Fertilizer industries (
E

(D) Paper mills
(Choose the correct answer from the options given below:

Options:

3666949917, M-I, (B)-(IT), (C)-(D), (D)-(IV)
3666949918, W-IID, (B)-(IV), (C)-(D), (D)-(1D)
3666949919, -1, (B)-(I1D), (C)-(IV). (D)-(1)

3666949920, -IV). (B)-(). (©)-(1D, (D)-(I1T)

Question Number : 70 Question Id : 3666943180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Tt | 1T 11 8 idE &3

el Tl 18
(A) I Ha= ) oreEm
(B) IS Wiy U ) ISHIE
(C) TdId JANT () g Ad
(D) HITS & A (V) Wig 3ueHl iy
e fow o faeedt & | U I -

Options :

3666949917, A)-(1D), (B)-(1I), (C)-(I). (D)-(IV)

3666949918 (A)-(II1), (B)-(IV), (C)-(I). (D)-(1I)

3666949919, W-(1D). (B)-(ILD), (C)-(IV). (D)-(1)

3666949920, -V (B)-D). (€)-aD, (D)-(1])

Question Number : 71 Question Id : 3666943181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Using column chromatography, mixture of two compounds ‘A" and ‘B was separated.
‘A’ eluted first, this indicates ‘B’ has

Options:
3666949921 high R:. weaker adsorption
3666949922 high R, stronger adsorption
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low Re, weaker adsorption

3666949923,

low Rr, stronger adsorption

3666949924,

Question Number : 71 Question Id : 3666943181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PlaH JOE B IUGRT dRe & AMS A’ T B B YYF fHa
'A' T8 Ydd Pedl gl fd ‘B P18 -

Options:

3666949921, S Ry, gud Ul

3666949927 3 Ry, UET SHIE=ITH0]

3666949923, 1749 Ry, Gaict SRy

3666949924, 114 Ri, Vsl LRSI

Question Number : 72 Question Id : 3666943182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pair from the following pairs having both compounds with net non-zero dipole moment is
Options:

cis-butene, trans-butene

3666949925.
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3666949926, - LR,

1.4-Dchlorobenzene, 1,.3-Dichlorobenzene

3666949927,

Benzene. anisidine

3666949928.

Question Number : 72 Question Id : 3666943182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 ® @ 98 g [od <A1 aifirest &1 aikonfi fgyga smaul g 981 &:

Options:

3666949925 Rg-se, TR-fes

3666949926, =21z CHUL

3666949927 14-STSFARIEIH, 1,3- SEFIRIGI

3666949928, S0, UHIHEH

Question Number : 73 Question Id : 3666943183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Identify the correct order of reactivity for the following pairs towards the respective
mechanism

| Br
A) 8,2 /I\/ Br > )<

(C) Electrophilic substitution :

NO,

Br
Br
@ 1:
(DY  Nucleophilic substitution
N(),

(Choose the correct answer from the options given below:

Options:

3666949929, (B): (C) and (D) only

3666949930, (4. (B)and (D) only

3666949931, ) (C)and (D) only

3666949932, ¢ (- (C) and (D)

Question Number : 73 Question Id : 3666943183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ﬁﬁﬁmﬁfﬂ%#ﬁﬁﬁ,m@ﬁfﬁim&fﬁ@mﬁm%ﬂﬁmﬁmﬁﬂ

/Kl 3

oo
- <

I3r | |
{ O

(D)  ANHE Hel UiasIa— ' -
NO,

Options :

2666949929, B (C) @ (D) @

3666949930, (A (B) T (D) Pad

3666949937, (A (C)¥d (D) ad

3666949932, W (B): (€) R4 (D)

Question Number : 74 Question Id : 3666943184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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The major product ‘P formed in the given reaction is

CH,CH,

(i) alk.KMnO,, £

COOCH. T 5> P
% (11) | a'.g;{ ] Major Produet

CH=CH,
Options:

CH,COOT

(OO
3666949933.
COOI
‘e COOTI
00
3666949934, O
CHLCOOT]
COOH
3666949935, VUM
COOH
| COOI
3666949936, - UI!

Question Number : 74 Question Id : 3666943184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0
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few 1 siftferan # fAfdfa 9@ 3@ P &

CH,CH,

lillmllii (i) alk. KMnO,, A
"OOCH. | —e » P
. ANy (1) Hs0) Major Product

CH=CH,

‘P major product 1s

Options:
CH,CO0T]
COOT
3666949933,
COOH
iill“llii COOT
00
3666949934,
CH,COO1]
iill"lli! COOI]
3666949935, VU1
COOH
COOI
3666949936,  COOH

Question Number : 75 Question Id : 3666943185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

suitable reaction condition for preparation of Methyl phenyl ether 1s

Options:

3666949937,

3666949938.

3666949939.

3666949940.

PhONa®  MeBr

=
PhO Na® . MeOH

Ph — Br, I'-,-Ief? Na

Benzene, MeBr

B

Question Number : 75 Question Id : 3666943185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Afd Biad SR & Faio gq agiea siffear gt &:

Options:

3666949937.

3666949938.

3666949939.

3666949940.

Fhﬂ%‘la% . MeBr

o .
PhO Na® , MeOH

Ph — Br, I'-,-Iefj; Na

Benzene. MeBr

B

~
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Question Number : 76 Question Id : 3666943186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
lsomeric amines with molecular formula C.H,,N give the following tests

Isomer (P) = Can be prepared by (zabriel phthalimide synthesis

[zomer () = Reacts with Hinsberg's reagent to give solid insoluble in NaOH
lsomer (R) = Heaects with HONO followed by f —naphthol in NaQH to give red dye.
lzomers (P). () and (R) respectively are

P Q R

Options :

N—H

e NH, =
NHCH,, ‘ ' o N
CH,

|

3666949941.

3666949942,

3666949943.

3666949944,

Question Number : 76 Question Id : 3666943186 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
C.H,N U] 93 d1d SHRaqst THH 9 qdieur 3 &:
TAIEad (P) — Afevd Afermgs deewur gr fAfila fen o ved €
JUEUd (Q) — fe~ae HfiwHS & Ty fohd1 X NaOH ¥ Hfdeid 319 s9a1 8
THIEEE (R) = HONO & I1Y fohar & IURI-G NaOH B 4 - 0T & T1Y &1dl 397 &1 &
YHEYd HHY: (P), (Q) 3T (R) .
P Q R

Options:

“N-H
N1,
NHCH, O . |I|
: " CH,
3666949941, |

N—=H NH,
@/‘\/ ( ] I v@/
(] 1
3666949942,
[ﬁl

o :
3666949943,
3666949944, ‘/\/

Question Number : 77 Question Id : 3666943187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

Match Last I with Last 11

List 1

Polymer
)  Nwlon-2-Nvlon-6
)  Buna-N

1) Urea-formaldehyde resin

-

e

o B

(
I{
li
(

=

)} Dacron

List 11
Type [ Class

(I) Thermosetting polymer
(I1) Biodegradable polymer
(I1I) Synthetic rubber

(IV) Polyvester

(Choose the correct answer from the options given below:

Options:

3666949945.

(A)-(11). (B)-(1), (C)-(1V), (D)-(111)

3666949946, A-(11). (B)-(1H). (C)-(1). (D)-(AV)

3666949947 (A)-(TV), (B)-(I), (O)-(11ID), (D)-(11)

(A)-(1V), (B)-(1LL), (C)-(1), (D)-(11)

3666949948.

Question Number : 77 Question Id : 3666943187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | &1 W gl 11 H &

Ceif]
UPR / il
() dY<e dgaid
(1) i Ay dagas
() AN
(IvV) UMeeey

14 f3u 70 flasel | ¥ Tel IR I+

~
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Options:

3666949945 A)-(D). (B)-(D). (C)-(IV). (D)-(1IT)

3666949946, A-(11), (B)-(LL), (C)-(1). (D)-(1V)
3666949947 A-IV), (B)-(1), (C)-(11I), (D)-(11)

A)-(TV), (B)~(TI), (C)~(T), (D)-(11
3666949948, V) (B)-(HD, (C)-(D), (D)-(H

Question Number : 78 Question Id : 3666943188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The one that does not stabilize 2° and 3° structures of proteins 1s

Options:
3666949949, -bonding

3666949950, — O — 0 —lmkage

— 5 — 5 —linkage
3666949951,

van der Waals forces

3666949952.

Question Number : 78 Question Id : 3666943188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

9 7§ g8 o I & 2° 3R 3° T3l &l ®irdidd A8l Hdl &:
Options :
3666949949, 1 UNEH

3666949950, O~ 0O —€H

3666949951, — > >~ 94

3666949952, droN di}idd

Question Number : 79 Question Id : 3666943189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(ziven below are two statements:

Statement | : Agueous solution of K.,Cn0. iz preferred as a primary standard in

volumetric analysis over Na,Cr,0. aqueous solution.

Statement 11 . K.,Cr(). has a higher solubility in water than Na,Cr,0). .

In the light of the above statements, choose the correct answer from the options given below :
Options:

Both Statement [ and Statement Il are true

3666949953.

3666949954, Both Statement 1 and Statement 11 are false
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Statement I 18 true but Statement 11 is false

=tatement | 18 false but Statement 1l 1s true

3666949956.

Question Number : 79 Question Id : 3666943189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S EC ERCACR

FY| HGTATHS [ALAN0 | WIYHS AFE & FY H K00, & Sy [dagH
& o H Na,Cr,0, & Taild fdead & adigar & wrdl 81

HYAIl : Na,Cr0. B ol d K,Cr,0. & 9d H facadr st gidl 2|
SIWa HY=1 & Gau ¥, i fou e fasedi ¥ § waiits Iuge W 94

Options:

3666949953 HYA | Td HY I S Tal g

3666949954, PYT | Td HYF 1l I 7TeTd g
3666949955, PYT | Wel & W] HY I TTed &
3666949956, o | 71T & TRg HU Il Wel ¢

Question Number : 80 Question Id : 3666943190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

Prolonged heating 1s avoided during the preparation of ferrous ammonium sulphate to

Options:

3666949957,

3666949958.

3666949959,

prevent hydrolysis

prevent breaking

prevent reduction

prevent oxidation

3666949960.

Question Number : 80 Question Id : 3666943190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction

Time:0

Correct Marks : 4 Wrong Marks : 1
Y SHIFATH Febe & iU & GRIA T Y8y b TH &3 9 &1 offal & o

Options:

3666949957/.

3666949958

3666949959.

3666949960

o Huged | 991 ol §d

g | g1 o e

39904 ¥ &4 ol Hb

. ST H &1 off Th

~
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Chemistry Section B
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Section type: Online
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Number of Questions : 10
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Question Number : 81 Question Id : 3666943191 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At constant temperature, a gas i1s at a pressure of 940.3 mm Hg. The pressure at which its

volume decreases by 40% 1s mm Hg. (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666943191 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R qromM W, f&H 719 &1 2 940.3 mm Hg ¢ 98 36, SRR IH1 3T 40% T

SITQ, & mm Hg. (Fbead quie)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943192 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of incorrect statement/s about the black hody from the following 1s

(A)  Emit or absorb energy in the form of electromagnetic radiation.
(B)  Frequency distribution of the emitted radiation depends on temperature.

(C) At a given temperature, intensity vs frequency curve passes through a maximum
value.

(D)  The maximum of the intensity vs frequency curve is at a higher frequency at higher
temperature compared to that at lower temperature.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943192 Question Type : SA Calculator : None
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Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943193 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of bent-shaped molecule/s from the following is

N;, NO;, T, O,, SO,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943193 Question Type : SA Calculator : None
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GEREEE Eg 3{THId (bent-shaped) dTel U]/ SU[3AT ST T 4
N., NO;, I5, 0, S0,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943194 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the degree of dissociation of aqueous solution of weak monobasic acid 15 determined to be
0.3, then the observed freezing point will be % higher than the
expected/theoretical freezing point. (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943194 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
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Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943195 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of correct statement/s involving equilibria in physical processes from the
following 1s

(A)  Equilibrium is possible only in a closed system at a given temperature.
(B)  Both the opposing processes occur at the same rate.

(C)  When equilibrium is attained at a given temperature, the value of all its parameters
became equal.

(D)  For dissolution of solids in liquids, the solubility is constant at a given temperature.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943195 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943196 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2— +2. 2V 3 TN 2 45V
F‘E"D4 | }FE 4 +00 TN }Fe 4 —{)45 }FEU

E" is rx107 V. The value of x is

FeO,~ /Fe~'

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943196 Question Type : SA Calculator : None
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P rx10°V 8l x PITHHA &

FeQ,= | Fe~'

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943197 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A molecule undergoes two independent first order reactions whose respective half lives are
12 min and 3 min. If both the reactions are occurring then the time taken for the 50%
consumption of the reactant is min. (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943197 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943198 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following reactions, the total number of oxygen atoms in X and Y 15

Na,0+ H,0 - 2X
CLO. + H 0 - 2Y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943198 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g sftfeeanai 1, x ud v § sfiiia uRA[S $f $o H=1 6
Na,O+ H,() — 2X
CLO; + H,O — 2Y

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943199 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of lone pairs present on the central atom of the interhalogen lE and IE is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943199 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 90 Question Id : 3666943200 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In potassium ferrocyanide, there are pairs of electrons in the {,, set of orbitals.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666943200 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U BIHEAISS | F&H! & ¢, T H 3dac4 gl &1 -1 ©:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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